A HsK FMH FACE MILL ARBOR

> W For Oil Hole Cutter joc !
For High Feed Cutter ‘ ; T
- 1pDhs Ci1
L] | |
=
L H-~|
tt Coolant Hole
¢dz 3 Holes Code No. Cgia(_er ¢d ®D1 M ®D2 od1 |od2
®50, $52 47 -
FMH22(22.225) ©63. 66 22(22.225) 60 M10X1.5 16 6~8 | 3
FMH27 (25.4) ®80 27(254) | 76(70) | M12X1.75(19.5(18.5)| 8~10 | 3.5
FMH32(31.75) ®100 | 32(81.75) | 96 | M16X2.0 24 10~13| 4
FMH40(38.1) ®125 | 40(38.1) | 100 | M20%2.5 | 30(29) |10~15| 5
FMH50.8 ®160 50.8 100 | M24x3.0 | 375 [15~20] 7
FMH Inch Sel"ies *Lubrication Pipe s optiondl, Please r;z:x[:%(’jg?:;asion is basically based on FMA/FMC. % The combination of the other cutter dia. are also available.
Arbor . Weight
TAPER Code No. D LTHIC il w Drive Key | Lock Bolt | G Cap Bolt (kg)
HSK 63A-FMH22.225 - 47 - gg gg 1%
-0 22.225 90 17 | 47 | 28 8 FW 3 FM10 - 17
-150 150 25
HSK 63A -FMH25.4 - 70- 60 60 18
-9 254 9 [ 22| 70 | 33 | 95 FW 5 FM12 - 2.5
-150 150 41
EMH3LTS - 76- 801 3175 | 80 30 | 76 | 40 | 127 | Fw1a FM16 - 29
HSK100A-FMH22.225 - 47 -1 gg 11(5)8 3.61
-1 4.
200 22.225 200 17 | 47 | 28 8 FW 3 FM10 — 47
-250 250 5.3
-FMH22.225 - 60- 60 60 2.9
-105 05 3.9
-150 | 22.225 50 | 17 | 60 | 28 8 FW 3 FM10 — 4.9
200 200 6.1
-250 250 7.2
-FMH25.4 - 70- gg 88 2%
HSK100A q50] 254 501 22| 70 | 33 | 95 FW 5 FM12 = 9
-200 200 7.4
-FMH31.75 - 76- 60 60 3.9
- 90 90 55
-105 [ 31.75 05|30 | 76 | 40 | 12.7 FW13 FM16 — 6.4
-15( 50 9.0
-200 200 11.8
-FMH38.1 -100- gg 88 g;
05 38.1 105 34 | 100 | 50 | 15.9 FW19 FM20 — 638
-150 150 9.6
FMH Metric Series xvuwrication Pipe is optional. Please refer 15~ P.278
Arbor . Weight
TAPER Code No. D L Hlc lcil w Drive Key | Lock Bolt G Cap Bolt (kg)
HSK 63A-FMH16 - 37- 45 16 45 [ 17 | 37 | 20 8 FW 3 FM 8 — 1.0
-FMH22 - 47- gg gg 1.:13
- _ iR
HSK 63A -0 22 ) 18 | 47 16 10 FW 8 M10 X 30 17
-15 150 2.5
EMH2T - 60- gu 27 [§3-120| 60 | 18| 12 FWA1 — M12 X 35 18
HSK100A-FMH22 - 471 gg gg 28
200 22 200 18 | 47 16 10 FW 8 — M10 X 30 47
-250 250 54
-FMH22 - 60- 60 60 2.9
-105 05 3.9
-15( 22 50 | 18 | 60 16 10 FW 8 — M10 X 30 5.4
-200 200 6.1
AT 60 ) 55
HSK100A - 90 27 90 | 20 | 60 18 12 FW11 — M12 X 35 37
-15 150 5.0
-FMH27 - 76- 6 60 3.2
- 90 27 90 | 20 | 76 18 12 FW11 — M12 X 35 4.3
-150 150 6.5
-FMH32 96- 60 60 3.8
- 90 32 90 [ 22| 96 | 24 14 FW16 — M16 X 35 BB
FNHAD— -100- 75 b4 39
- - i) _ h
105 40 105 26 | 100 | 50 16 FW22 FM20 68

276



